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U1l dboo

(kg, cm)

X 4 s 30 Hs 45 Him 60 B 90 Him

K H o | X 31.5 £ 6.4 39.0 = 6.1 7.0+ 7.9 99.0 £ 9.5 89.7 £ 10. 1
(D G) 0.26 0.53  (0.34) 0.8 1.02  (0.95)

AR X 3I.3 £ 1.6 43.2 £ 4.4 50.0 £ 5.0 61.8 £ 6.6 90.0 = 8.7

(D G) 0.40 0.45 (0.42) 0.79 0.94  (0.89)

* mox B 67.3 £ 4.7 74.0 £ 5.3 73.3 5.5 79.3 £ 6.4 85.3 4.7
CE S 68.2 2.2 73.0+4.4 75.8 £ 3.0 80.2 £ 3.0 8§7.4 £ 4.3

fa o X 70.7+£5.9 76.7 2.5 83.3 2.1 87.3 3.2 99.7 £ 4.2
B 70.2 £ 1.9 77.6 + 3.5 82.2 £ 4.1 88.2 = 2.2 100.2 £ 3.0

i) o B 70.0 £ 5.2 85.3 £ 2.1 91.0 £ 6.6 99.7 £ 4.0 5.7 £ 3.1
W OB X 69.6 = 2.4 82.4+3.0 89.6 £ 5.5 100.6 = 3.4 114.0 £ 6.7

) O Wi, REBEG,S 45 HBETODG, 46 BB, SRBETHETODG
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1)
2)
3)
4)
5)
6)
7)

02 0oooo

(kg)

X 4 0— 30 B 30 — 45 AR 45 — 60 HE 45 — 90 R 2R
AL Ao B K 3.3+ 15 10.7 £6.0 2.4+ 2.3 64.3 +£19.7 99.7 + 25.6
# OB K 1.9+2.4 5.2+6.1 24.8 + 6.8 68.2 + 5.2 100.2 + 14.0
Mo R B K 0.7+0.8 1L.4+0.7 LT+ 0.6 8.2+ 5.0 12.0 £ 4.6
7B K 0.7+0.4 1.440.9 2.7+ 2.0 8.8+ 5.1 13.3+ 4.9
& 3o B K 4.0+0.7 12.1+5.6 231+ 2.2 72.5 % 23.4 111.6 £ 27.5
B K 2.7+2.4 6.6 £5.9 27.5+ 7.6 7.0+ 9.6 113.8 £ 18.3

03 doooooo@ooon)

X 5 30 B 45 Hih 60 H i P B

H B 0.47 + 0. 81 0.04 £ 0.08 0.04 +0.08 0.0+0.0

OB K 0.55 + 0.38 0.65 + 0. 63 0.13+0.19 0.0+0.0
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12.47-48 1972.

oooO0oQ0 295356 1992.

googno  30:13-17 1993.

goooog cOd 71320 1990.
gooooo cd  87-15 1991,
goooono 414 1991
oooooo 514 1992
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